
1) (4 x 19) x (8 x 58)

Answer: ____________

2) (2 x 42) / (8 x 6-7)

Answer: ____________

3) (8 x 71) x (6 x 89)

Answer: ____________

4) (6 x 32) x (8 x 3-3)

Answer: ____________

5) (6 x 48) / (1 x 9-3)

Answer: ____________

6) (5 x 51) x (7 x 84)

Answer: ____________

7) (10 x 35) x (4 x 76)

Answer: ____________

8) (2 x 3-7) x (2 x 95)

Answer: ____________

9) (10 x 91) x (7 x 102)

Answer: ____________

10) (6 x 86) x (3 x 51)

Answer: ____________

Total: ___ / 10
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Answers:

1) 12500000 2) 1119744 3) 45097156608 4) 16 5) 286654464 6) 716800 7) 1143548280

8) 108 9) 63000 10) 23592960
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